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Section A
Multiple Choice Questions (6x1m)

Choose the correct answer and write 1, 2, 3 or 4 in the brackets
provided.

1. The value of the digit 6 in 6017 is

(1) 6 (2) 60

(3) 600 (4) 6000 ( )
2. 3891 = 3000 + +90+1

(1) 8 ones (2) 8tens

(3) 8 hundreds (4) 8 thousands ( )

3. 4 thousands + 11 tens + 41 ones =

(1) 4052 (2) 4151

(3) 4421 (4) 4520 ()

4. What is the sum of 2381 and 40927

(1) 1711 (2) 6173

(3) 6373 (4) 6473 ()
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5. Which of the following is the smallest?

(1) 2 thousands (2) 21 hundreds

(3) 220 tens (4) 2022 ones

6. 551 less than 7490 is

(H)-1980 (2) 6939
(3) 6941 (4) 7141
Section B

Fill in the blanks with the correct answers. (1 mark each)

7.  Write 6495 in words.

8.  Inthe number 8612, what does the digit 1 stands for?

Ans:
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9. Find the value of the following question.

6 8 5 2
+ 21 9 9

Ans:

10. Subtract 1299 from 3000.

Ans:

11.  Find the missing number in the number pattern below.

9297, 9247, 9227, , 9157, 9107, 9087

Ans:
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12.  Arrange the following numbers from the greatest to the smallest.

1203 2103 2030 1220

greatest

13.  What is the missing number in the box?

6 0,18

- 17 8 5

4 2 6 3

Ans:
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14. The difference between two numbers is 293. The smaller number
is 1768. What is the other number?

Ans:

15. | am thinking of a 4-digit number between 6000 and 7000.
The digit in the ones place is the smallest odd number.
The digit in the tens place is 3 more than the digit in the ones place.
The digit in the hundreds place is 2 less than the digit in the thousands

place.
What is the number | am thinking of?

Ans:

End of paper
Setter : Mrs Narin
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Section A
Multiple Choice Questions (7 x 2m)

Choose the correct answer and write 1, 2, 3 or 4 in the brackets

provided.

1.” - The digit 3 in 8034 is in the

(1) ones
(2) tens
(é)m hundreds
(4) thousands

2. The sum of 7856 and 97 is

place.

(1) 7759
(2) 7841
(3) 7843
(4) 7953

3. 7213 - 6508 =

(1) 605
(2) 615
(3) 705
(4) 715




4, What is the product of 8 and 77

(1) 64
(2) 56

(3) 54 /

(4) 15 ( )

5. What-is the missing number in the box?

9 + =48 +3

(1) 7
(2) 9
(3) 16
(4) 25 ()

6. There are 612 erasers altogether. Sam packs them equally into

6 boxes. How many erasers are there in each box?

(1) 12
(2) 66
(3) 102
(4) 606 ( )




7. What is the difference between the values of digit ‘5’ and digit ‘7’ in
53707

(1) 430
(2) 4300 ,

(3) 4930

(4) 4993 ( )

Section B" -
Fill in the blanks with the correct answers.

8a.  Write four thousand and sixty-three in numerals

Ans: [1]

8b. Arrange the numbers in order, beginning with the greatest.
)

D 2785, 7258, 2587, 7528

Ans: , >
(greatest) ]




9.  Multiply 439 by 9.

The answer is

10. Find the quotient when 362 is divided by 5.

Ans:

Ans:




11.

12.

The numbers in the diagram below follow a pattern.

Find the value of A and B.

2

Ans A:

Ans B:

) e =

a) Using the digits above, form the

i) greatest 4-digit number Ans:

[1]
]

[1]

i)  smallest 3-digit number Ans:

b)  Find the sum of the above two numbers.

Ans:

M

[2]




13. Michelle is 27 years old this year. Kenneth will be 26 years old in
10 years’ time. How much older is Michelle than Kenneth?

Ans: [2]

14. Form the smallest 3-digit odd number and divide it by 4. What answer
will you get?

Ans: [2]




Section C

Solve the following problem sums. Show your working clearly in the
space provided and write your answers in the blanks.

15. There were 187 adults at a food fair.
There were 58 more adults than children at the food fair.l

How many people were there at the food fair altogether?

Ans : [Bm]




16.

Rita and Don have $5010 altogether.
Yvonne and Rita have $8273 altogether.

If Yvonne has $3958, how much does Don have?

Ans :

[3m]




17.
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Asha had some beads. She used 35 beads to make a necklace.
Then, she bought another 42 beads and had 105 beads left.

a) How many beads will Asha need to make 2 similar necklaces?
b) How many beads did Asha have at first?

Ans (a): [1m]

Ans (b): [3m]

Setter: Ms Rajini

End of paper
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